Unique Auctions Catalogue 18 Jan 2017

- 1 A Royal Selangor shop display cabinet £20.00 £30.00
- 2 A quantity of old games including Kerplunk, Round the bend, Mastermind etc £10.00 £20.00
- 3 A gold painted loom style chair £10.00 £20.00
- 4 A Silver Cross dolls pram £20.00 £30.00
- 5 A solid pine high chair £10.00 £20.00
- 6 A vintage Flatley clothes drying and airing cabinet £20.00 £30.00
- 7 A good quality modern oak wall unit £20.00 -£40.00
- 8 2 metal 4 drawer filing cabinets £20.00 £30.00
- 9 An oil on board study of a heron signed B Cox £20.00 £30.00
- 10 6 table lamps, (4 with shades) £10.00 £20.00
- 10A A teak effect 2 door cupboard £10.00 £20.00
- 10B A triple extension wooden ladder £20.00 £30.00
- 10C A wrought iron shelving unit with wooden shelves £20.00 £30.00
- 10D A quantity of 1970's girls toys, some boxed including a child's hoover and a child's carpet sweeper £20.00 £30.00
- 10E A wild west fruit machine for spares or repair
- 10F A Husquarna R53SV petrol lawn mower £30.00 £40.00
- 10G A Stanley pedestal drill £30.00 £40.00
- 10H A quantity of leaded glass windows, some a/f £20.00 £30.00
- 10J A gilt framed oval mirror £10.00 £20.00
- 10K A 780W petrol generator £40.00 £60.00
- 10L 2 wooden stepladders and 2 metal stepladders £10.00 £20.00
- 10M 7 crates of glasses £20.00 £30.00
- 10N A large quantity of garden tools etc £10.00 £20.00
- 10P A wooden dolls cot with dolls, a dolls pushchair and a rocking horse £20.00 £30.00
- 10Q A Hotpoint Aquarius washing machine £30.00 £40.00
- 10R A Hotpoint 'Future' fridge £20.00 £30.00
- 10S A Parkinson Cowan 4000L gas cooker £20.00 £40.00
- 10T A Texas T1-99/4A computer £10.00 £20.00
- 10U A quantity of shovels and tools £10.00 £20.00
- 10V A set of 6 folding metal chairs £10.00 £20.00
- 10W A pair of concrete garden dogs £80.00 £120.00
- 10X 2 petrol cans £10.00 £20.00
- 10Y A pair of old cast iron bench ends £20.00 £30.00
- 10Z A fire screen with ship emboridery £10.00 £20.00

- 11 A teak effect combination wardrobe £20.00 £40.00
- 12 A stick stand, walking sticks and umbrella's £20.00 £30.00
- 13 A mixed lot of brass ware including kettles, skimmers, bellows etc £20.00 £30.00
- 14 A mahogany effect wall unit £20.00 £40.00
- 15 5 shelves of rose decorated china £30.00 £50.00
- 16 5 shelves of amber glass ware £20.00 £30.00
- 17 4 shelves of Portuguese pottery £20.00 £30.00
- 18 A framed and glazed print entitled 'The Slave Market, Constantinople' £10.00 £20.00
- 19 2 soda syphons and a quantity of wine etc £10.00 £20.00
- 20 A bureau/cabinet with lead glazed doors, glass a/f £20.00 - £30.00
- 20A An embroidered fire screen £10.00 £20.00
- 20B A pair of cast metal bench ends £20.00 £30.00
- 20C A Husquarna petrol rotivator £30.00 £40.00
- 20D A quantity of 'Arc' light fittings £10.00 £20.00
- 20E A long garden bench £20.00 £30.00
- 20F A mixed lot of pots, pans and cutlery etc £10.00 £20.00
- 20G A tent and camping equipment £20.00 £30.00
- 20H A Webb 300 lawn mower £20.00 £30.00
- 20J A Mountfield petrol mower £30.00 £40.00
- 20K A large quantity of old cinema seats £80.00 £120.00
- 20L A retro stool and 2 others £10.00 £20.00
- 20M 3 wall mirrors £10.00 £20.00
- 20N A Morphy Richards 1500W vacuum cleaner £10.00 £20.00
- 20P A telephone seat and a trolley table £10.00 £20.00
- 20Q A folding wheel chair £10.00 £20.00
- 20R 2 magazine racks, a tea trolley and an oak deco table £10.00 £20.00
- 20S A quantity of pictures including oil paintings, watercolours, drawings etc £20.00 £30.00
- 20T A garden bench with cast metal ends £20.00 £30.00
- 20U A ship's vent cover £80.00 £120.00
- 20V A Napoleon hat mantel clock £10.00 £20.00
- 20W 2 large framed and glazed prints £10.00 £20.00
- 20X 6 old suitcases and a folio case £10.00 £20.00
- 20Y A leather pouffe and a stool £10.00 £20.00
- 20Z A mahogany fold over games table £30.00 £40.00
- 21 A Victorian magazine rack and a brass fender

1

- £20.00 £30.00
- 22 A mahogany framed button back hall seat £20.00 £30.00
- 23 4 framed and glazed Lincolnshire related maps £20.00 £30.00
- 24 6 nodding animals including dogs, tortoise etc £8.00 £10.00
- 25 A workshop shelf unit £10.00 £20.00
- 26 A white painted folding book shelf £10.00 £20.00
- 27 6 shelves and a box of rose decorated china £40.00 £60.00
- 28 2 framed tapestries, a pewter coffee pot and other pewter items £15.00 £20.00
- 29 A shelf of assorted glass ware £10.00 £20.00
- 30 A large collection of paintings in albums and loose £40.00 £60.00
- 30A A melamine drop leaf table £10.00 £20.00
- 30B 5 graduated nesting suitcases £10.00 £20.00
- 30C 3 graduated suitcases and a cabin bag £10.00 £20.00
- 30D 2 arm chairs and a stool £20.00 £30.00
- 30E An old tin trunk containing Christmas decorations £20.00 £30.00
- 30F A pair of bedside cabinets £10.00 £20.00
- 30G An old tin trunk containing mainly plastic toys £10.00 £20.00
- 30H A garden bench £20.00 £30.00
- 30J A leaf blower £10.00 £20.00
- 30K An oil on canvas 'Boston Mayor' £10.00 £20.00
- 30L A large quantity of assorted pictures £10.00 £20.00
- 30M A set of Howson golf clubs and golf bag £50.00 £70.00
- 30N A standard lamp with shade and a lamp base £10.00 £20.00
- 30P A large quantity of pictures (2 stacks and a box) £20.00 £30.00
- 30Q A garden table, 4 chairs and a Lilo chair £20.00 £30.00
- 30R A large heavy wood coffee table £20.00 £30.00
- 30S A superb quality mirrored ultra modern table £50.00 £60.00
- 30T A large painted linen chest £20.00 £40.00
- 30U A mixed lot including table, 2 wall clocks, a pair of vases, 2 table lamps etc £10.00 £20.00
- 30V A box of bathroom fixtures and fittings £10.00 £20.00
- 30W A pair of cast metal bench ends £20.00 £30.00
- 30X A large pottery garden pot and an earthenware planter £20.00 £30.00
- 30Y A large quantity of books £20.00 £30.00

- 30Z 2 walking aids £10.00 £20.00
- 31 A box of silk flowers £8.00 £10.00
- 32 19 glass paperweights £20.00 £30.00
- 2 shelves of Price Kensington cottage ware £20.00 £30.00
- 34 A shelf and 2 boxes of china including blue and white plates, vases etc £20.00 £30.00
- 35 A shelf of various dog figures £15.00 £20.00
- 36 A shelf of blue motto ware pottery £15.00 £20.00
- 37 A shelf of cutlery including cased sets £20.00 £30.00
- 2 shelves of miscellaneous items including jewellery and sewing £20.00 £30.00
- 39 2 Price Kensington teapots, 2 others and 2 x 3 piece tea services £10.00 £20.00
- 40 A mixed lot of brass ware including fire irons, trivet etc £20.00 £30.00
- 40A A quantity of pictures, mirror etc £10.00 £20.00
- 40B 2 bedroom chairs £10.00 £20.00
- 40C An old bureau, a/f £10.00 £20.00
- 40D A Corby 5000 trouser press £10.00 £20.00
- 40E A set of small glazed book shelves £10.00 £20.00
- 40F A large quantity of DVD's £20.00 £30.00
- 40G A quantity of old dark glass bottles £20.00 £30.00
- 40H A quantity of paintings and prints £10.00 £20.00
- 40J A Roneo Vickers display stand £10.00 £20.00
- 40K A large old scythe £10.00 £20.00
- A shelf of miscellaneous items including glasses, blue and white etc £10.00 £20.00
- 42 A shelf of owl figures, garden figures etc £20.00 £30.00
- 43 A large quantity of CD's £20.00 £30.00
- 44 4 shelves of approximately 56 pieces of Denby including Mayflower dinner set and 2 Denby collector's plates £25.00 £35.00
- 45 A box of model aeroplanes £20.00 £30.00
- 2 shelves of assorted wooden items including elephants, figures etc £20.00 £30.00
- 47 A mixed lot of silver plate, crystal posy vase etc £20.00 £30.00
- 48 A quantity of Portmerion dishes £25.00 £35.00
- 49 A writing box and a pen box, a/f £15.00 £20.00
- 50 A cased pair of Carl Zeiss 8 x 30 binoculars £20.00 £30.00
- 51 A large box of Star Wars collector's cards and a toy lorry £20.00 £30.00
- 52 A shelf of miscellaneous including wall clock, metal ware etc £20.00 £30.00
- 53 2 pairs of candlesticks and 2 others £10.00 £20.00

2

- 54 22 glass paperweights £20.00 £30.00
- 55 A shelf of framed and glazed prints £10.00 £20.00
- 56 6 boxed Wedgwood plates and one other £15.00 £20.00
- 57 A box of interesting old games and a puppet £15.00 £20.00
- 58 A quantity of vintage camera's £10.00 £20.00
- 59 3 shelves of assorted brass ware £40.00 £60.00
- 60 2 Sadler teapots, 2 others and a Goebel monk jug £10.00 £20.00
- 61 An unused photo folio and album £10.00 £20.00
- 62 A good old Vignette stoneware platter and 4 Adam's Landscape platters £15.00 £20.00
- 63 3 American Indian figures and a leopard head figure £10.00 £20.00
- 4 Staffordshire flat back figures, a/f £10.00 £20.00
- 65 A Denby 21 piece coffee set and an 18 piece black velvet retro dinner set £20.00 £30.00
- 66 A shelf of glass and other ornaments £10.00 £20.00
- A blue and white planter and a quantity of blue and white Delft pottery £15.00 £20.00
- 68 A mixed lot of old meat platters including Royal Doulton £15.00 £20.00
- 69 3 shelves of assorted brass ware including chestnut roaster £30.00 £40.00
- 70 A quantity of wooden boxes and a wooden photo frame £10.00 £20.00
- 71 A large quantity of art materials £20.00 £30.00
- 72 A mixed lot of ornaments including Beswick £10.00 £20.00
- 73 A teak effect bureau £10.00 £20.00
- 74 An enamel bread bin and a glass butter churn £15.00 £20.00
- 75 An oil on canvas rural scene signed J Pendlebury 1912 £15.00 £20.00
- 76 A pottery planter with fairy figurines and woodland decoration £10.00 £20.00
- 77 A 19th century Staffordshire figure £20.00 £30.00
- 78 A glass table centre piece £10.00 £20.00
- 79 A faun group and a panda figure £10.00 £20.00
- 80 A quantity of wooden ornaments £8.00 £10.00
- 81 An oil lamp with cast base and glass font £20.00 £30.00
- 82 A brass fire curb £10.00 £20.00
- 83 A pair of art deco pottery vases and one other £10.00 £20.00
- 84 A quantity of Lilliput Lane and other cottages £10.00 £20.00
- 85 A mahogany toilet mirror £10.00 £20.00
- 86 A child's china dinner service and a part child's

china tea set £10.00 - £20.00

- 87 A small box of die cast cars £10.00 £15.00
- 88 An art pottery puzzle jug £10.00 £15.00
- 89 A collection of art glass £10.00 £20.00
- 90 A mahogany book stand with label reading 'The Bershaw' book rest and an oak letter rack £20.00 £30.00
- 91 13 19th century green leaf plates, some a/f £10.00 £20.00
- 92 A pair of good quality cut glass decanters £10.00 £20.00
- 93 A Doulton stoneware jug a/f and a Doulton Lambeth pot £10.00 - £20.00
- 94 A kingfisher group, a wren group, a woodpecker and a coal tit £10.00 £20.00
- 95 A bisque porcelain ballerina figure £10.00 £20.00
- 96 A copper coal scuttle £20.00 £30.00
- 97 A double sided marquetry picture of Mr Pickwick signed A Harper £10.00 £20.00
- 98 A 19thy century cast iron Mr Punch door stop £15.00 £20.00
- 99 An extending brass fender £20.00 £30.00
- 100 A pair of porcelain figures and a pair of salad servers £10.00 £20.00
- 101 An Arthur Wood art deco vase and posy bowl £10.00 £20.00
- 102 A small collection of Aynsley fruit patterned china and a Doulton series ware pin dish £10.00 £20.00
- 103 2 items of T G Green and 3 other items £10.00 £20.00
- 104 A cased microscope £20.00 £40.00
- 105 A brass oil lamp with floral decorated shade £20.00 £30.00
- 106 A mahogany shop till £20.00 £30.00
- 107 A collection of animal figures including dogs, pony etc £10.00 £20.00
- 108 An adjustable brass fender £20.00 £30.00
- 109 A good quality camel stool £20.00 £30.00
- 110 A boxed set of 6 Royal Doulton crystal wine glasses £10.00 £20.00
- 111 A mixed lot of Avon bottles and other items £10.00 £20.00
- 112 A Beswick foal £10.00 £20.00

3

- 2 Georgian glass rummers and an engraved wine glass £20.00 £30.00
- 114 A mixed lot of coins including £5 coin £8.00 £10.00
- 115 2 Goebel figures, a pin doll and a souvenir figure £10.00 £20.00
- 116 A mixed lot of coinage including UK copper and foreign £10.00 £20.00

117	A collection of old glass marbles £10.00 - £20.00		including plaques, pots etc £20.00 - £30.00		
118	4 Royal Doulton Bunnikins figures and a Beswick		2 boxes of LP records £10.00 - £20.00		
119	Beatrix Potter pig £30.00 - £41.00 A Prattware pot lid with pot and a jam pot £10.00 - £20.00	150	A tin plate push along chicken and a tin plate Tom and Jerry Kaleidascope £20.00 - £30.00		
120	3 Wade Tortoises, a Wade figure and a Wade	151	A collection of bird figures £15.00 - £20.00		
121	Disney Tramp dog £10.00 - £20.00 A mixed lot of marbles, paperweights and napkin	152	A mixed lot of books including children's £10.00 - £20.00		
	rings etc £10.00 - £20.00	153	An inlaid jewellery box £15.00 - £20.00		
122	A tray of miscellaneous including fan, coins etc	154	3 what nots £20.00 - £30.00		
400	£10.00 - £20.00		A large collection of corals, shells and minerals		
123	7 glass paperweights £10.00 - £20.00		£20.00 - £30.00		
124 125	A tray of costume jewellery £10.00 - £20.00	156	A mixed lot of brass and copper ware including bowl, box, bells etc £15.00 - £20.00		
125	2 crystal necklaces £10.00 - £20.00	157			
120	6 2 items of Falklands war memorabilia, a Charles Wesley medallion and a Lusitania medallion £20.00 - £30.00		An HM armed forces model helicopter (Action man style) £10.00 - £20.00		
127	A tray of costume jewellery £10.00 - £20.00	158	A painted bedroom chair £5.00 - £10.00		
128	A quantity of lead soldiers £10.00 - £20.00	159	A large Buddha figure, a standing Buddha figure and other Buddha figures £20.00 - £30.00		
129	A mixed lot of costume jewellery, pens, crested item etc £10.00 - £20.00	160	A telephone table and a 2 tier stand £10.00 - £20.00		
130	A mixed lot of costume jewellery in a small leather suitcase £10.00 - £20.00	161	A 51 piece Paragon/Royal Albert dinner service £30.00 - £40.00		
131	A mixed lot including 10/- note, Victorian	162	A quantity of Skegness pottery £10.00 - £20.00		
	photographs, ration books etc £10.00 - £20.00	163	A Samsung 32" flat screen television £40.00 -		
132	A mixed lot of costume jewellery in 2 trays £10.00 - £20.00	164	£60.00 A mixed lot of paperweights and ink wells £10.00 -		
133	A quantity of football programmes £10.00 - £20.00		£20.00		
134	An album of UK and foreign coins £10.00 - £20.00	165	A carved wood birthing stool and a bamboo stand		
135	A mixed lot of costume jewellery and watches	166	£20.00 - £30.00		
126	£10.00 - £20.00	166	A good quality camel stool £20.00 - £30.00		
136	A quantity of collectable coins including framed £20.00 - £30.00	167	A mixed lot of Royal commemorative ware £10.00 - £20.00		
137	A collection of pewter Jaguars on rack £20.00 - £30.00	168	A mixed lot of brass ware £10.00 - £20.00		
138	A collection of tea cards and reproduction cigarette cards £10.00 - £20.00	169	A collection of china soldier figures including Alfretto £20.00 - £30.00		
139	A mixed lot of coins £10.00 - £15.00	170	A good camera tripod £10.00 - £20.00		
140	A mixed lot of silver plate cutlery including sifter	171	A new ultra modern glass occasional table £30.00 - £40.00		
	spoons, sugar tongs, pickle forks etc £10.00 - £20.00	172	2 brass oil lamps £20.00 - £30.00		
141	2 boxes of dolls and soft toys £10.00 - £20.00	173	A mixed lot of silver plate and brass ware £10.00 - £20.00		
142	A mixed lot of wooden items £10.00 - £20.00	174	3 framed and glazed butterfly studies £10.00 -		
143	2 large boxes of linen £20.00 - £30.00		£20.00		
144	A box of photographic items including slide projector £10.00 - £20.00	175 176	2 old kitchen chairs £10.00 - £20.00 A vintage writing case and one other £10.00 -		
145	A large box of CD's £10.00 - £20.00		£20.00		
146	42 pieces of Pallisy tea and dinner ware £10.00 - £20.00	177	2 Crown Devon loaf dishes and other pottery £15.00 - £20.00		
147	A Royal Doulton tea and dinner set £10.00 - £20.00	178	A new ultra modern glass occasional table £30.00 -		
			£40 00		

£40.00

4

BidMaster Office

5 companion sets and a mixed lot of brass ware

148

179	A universal money checker £10.00 - £20.00	211	211 A quantity of silk flowers £8.00 - £10.00	
180	A brass art nouveau style desk lamp with shade £10.00 - £20.00	212	A new ultra modern glass coffee table £50.00 - £60.00	
181	A collection of blue and white including Copeland Spode £10.00 - £20.00	213 214	, 0	
182	A Bentwood chair (cut down) and one other £10.00		A Wooden box, a case and a golfing item £10.00 £20.00	
183	- £20.00 A mixed lot of old brass ware including nut cracker, candlesticks, toasting forks etc £15.00 - £20.00	215	A good quality retro style table and 2 chairs £40.00 - £60.00	
		216	A box of assorted sewing items £10.00 - £20.00	
184	A 21 piece Alfred Meakin tea set £10.00 - £20.00		A pine 'D' shaped side table £20.00 - £30.00	
185	A Fender Princeton 112 Plus amp. 65 watt, made in USA, twin channel, real Fender sound £40.00 - £60.00	218	A modern dining table and 4 chairs £20.00 - £30.00	
100		219	A signed oil on board painting £10.00 - £20.00	
		220	A Shove ha'penny board £10.00 - £20.00	
186	2 boxes Model Engineer and Railway magazines £10.00 - £20.00 An Epiphone valve special 5W all valve amp. Built in effects, delay chorus, flanger and reverb £40.00 - £60.00	221	3 Reeves brass rubbing kits £10.00 - £20.00	
40-		222	A small hall chandelier £15.00 - £20.00	
187		223	A new ultra modern glass coffee table £50.00 - £60.00	
188	2 boxes of assorted china items £10.00 - £20.00	224	A Monk's bench with storage seat £20.00 - £30.00	
189	A collection of brewery jugs etc £15.00 - £20.00	225	A box of assorted CD's £10.00 - £20.00	
190	2 boxes of LP and 45 rpm records £10.00 - £20.00	226	A folding card table and a kitchen chalk board	
191	A box or assorted china including Sylvac, crested	227	£10.00 - £20.00 A heavy rustic oak sideboard £40.00 - £60.00	
400	ware, motto ware, jardiniere etc £10.00 - £20.00	228	A signed oil on board painting £10.00 - £20.00	
192	2 boxes of old tins £10.00 - £20.00	229	A small circular table £8.00 - £10.00	
193	A glass terrerium £8.00 - £10.00	230	A brass oil lamp £20.00 - £30.00	
194	A white jardiniere on stand £10.00 - £15.00	231	A pottery tea set (some pieces a/f) £10.00 - £20.00	
195	A mixed lot of minerals and stones £10.00 - £20.00	232	A good Lloyd Loom style chair £15.00 - £20.00	
196	A new ultra modern glass coffee table £50.00 - £60.00	233	2 card index drawers £8.00 - £10.00	
197	A radio / CD player in the shape of an electric	234	An oak cutlery box £8.00 - £10.00	
101	guitar, remote etc (in box) £20.00 - £30.00	235	An oak drop leaf dining table £20.00 - £30.00	
198	A brass oil lamp £15.00 - £20.00	236	A superb quality 19th century mahogany clothes	
199	A retro magazine rack, letter rack and waste paper bin £10.00 - £20.00	237	horse / quilt stand £20.00 - £30.00 A mahogany torchere / pot stand £20.00 - £30.00	
200	A large pottery vase £30.00 - £40.00	238	A decorative table lamp in the form of a figure	
201	A quantity of rug making, sewing and other items		£20.00 - £30.00	
	£10.00 - £20.00	239	A large quantity of pictures etc £10.00 - £20.00	
202	A collection of small toys etc £10.00 - £20.00	240	2 vintage mail bags £20.00 - £30.00	
203	A telephone seat £10.00 - £20.00	241	2 vintage suitcases £10.00 - £20.00	
204	A set of scales and a book stand £10.00 - £20.00	242	A small oak shelf £10.00 - £20.00	
205	A chair and a stool £10.00 - £20.00	243	A pine bureau £30.00 - £40.00	
206	A Wade pig and a quantity of figures £10.00 - £20.00	244	A mixed lot of Price Kensington cottage ware £10.00 - £20.00	
207	12 Royal Worcester Ramekin dishes, A Poole	245246	A modern display cabinet £30.00 - £40.00	
208	dish and 3 Denby dishes £20.00 - £30.00 A quantity of fans £10.00 - £20.00		An oil on canvas 'Alpine Landscape' £10.00 - £20.00	
209	An Apple Mac computer monitor and keyboard	247	A Pendelfin green grocery shop £10.00 - £20.00	
_00	£10.00 - £20.00	248	A tall pine chest of drawers £40.00 - £60.00	
210	A quantity of decorated conch shells and other shell related items £10.00 - £20.00	249	A table lamp with shade £10.00 - £20.00	
			•	
		250	A mixed lot including Russian dolls, chestnut	

	roaster etc £10.00 - £20.00	ter etc £10.00 - £20.00			
251	A camera case and contents and a set of headphones £8.00 - £10.00	283	A Hitachi video disc player with discs £10.00 - £20.00		
252	A framed and glazed limited edition print 'Red Rum' signed S L Crawford £10.00 - £20.00	284	A Grundig reel to reel tape recorder with tapes £10.00 - £20.00		
253	2 mirrors £10.00 - £20.00	285	A mini disk recorder, a cassette deck and a CD		
254	An oak mantel clock and several other clocks	000	player £10.00 - £20.00		
255	£10.00 - £20.00 A mixed lot of silver plate and other glass ware	286	A pair of framed and glazed German historic prints including Bismark £10.00 - £20.00		
	£10.00 - £20.00	287	A Strat style single pickup guitar, Alder body, quality parts, nice player £20.00 - £30.00		
256	A mixed lot of enamel bowls, hot water bottle etc £10.00 - £20.00	288	A mixed lot of china including Mason's, Aynsley,		
257	A boxed caravan cover £20.00 - £30.00	200	Royal Worcester, Coalport etc £20.00 - £30.00 An oil lamp with etched shade £20.00 - £30.00		
258	2 framed and glazed Thomas Weisenberger prints £10.00 - £20.00	289 290	4 framed and glazed Egyptian pictures £10.00 -		
259	A quantity of bottles of wine etc £10.00 - £20.00	_00	£20.00		
260	A cased violin £10.00 - £20.00	291	A mixed lot of printing blocks, novelty pencil		
261	A mixed lot of drinking glasses £5.00 - £10.00	000	sharpeners etc £5.00 - £10.00		
262	A Japanese framed and glazed panels £20.00 - £30.00	292	A quantity of walking sticks, parasol etc £10.00 - £20.00		
263	A table lamp in the form of an oil lamp £10.00 -	293	A water feature table lamp £10.00 - £20.00		
	£20.00	294	A NAO figure and 4 others £10.00 - £20.00		
264	An oak tray, shelf etc £10.00 - £20.00	295	A framed and glazed fishing print and a seascape after Frederic Waugh £10.00 - £20.00		
265	5 musical piano's, some being jewellery boxes £10.00 - £20.00	296	A case of photographic items £10.00 - £20.00		
266	A quantity of Ultimate Real Robots magazines and	297	A vintage toy go cart £10.00 - £20.00		
267	a robot £10.00 - £20.00 A box of CD's £10.00 - £20.00	298	A large quantity of CD's in albums and loose £20.00 - £30.00		
268	2 prints of the Brayford with Lincoln Cathedral in	299	A mixed lot of brass and wood items £10.00 - £20.00		
269	the background £10.00 - £20.00 A pair of oak barley twist candlesticks, a set of	300	A large oriental still life print, a picture on block		
	coasters and a picture £10.00 - £20.00	204	and 2 oriental pictures £10.00 - £20.00		
270	An artist's box and contents £8.00 - £10.00	301 302	A pair of Bushnell binoculars £10.00 - £20.00		
271	A large quantity of vintage games £20.00 - £30.00	302	A pair of cherub wall shelves, a Minton cherub vase and a cherub musician £15.00 - £20.00		
272	A quantity of pictures £10.00 - £20.00	303	A quantity of vintage Christmas tree bauble and		
273	5 pictures £10.00 - £20.00		lights £10.00 - £20.00		
274	A pottery jardiniere on stand £20.00 - £30.00	304	An Imperial typewriter £10.00 - £20.00		
275	2 19th century comports with 4 matching plates £15.00 - £20.00	305	A Canon EOS 50E camera kit, 35-80 lens, 80-200 lense, ultra sonic 22-55 lense, speelite 200E flash		
276	A quantity of Victorian Crown Chelsea 'Elmo' tea and dinner ware £10.00 - £20.00		all in full working order, a Scopex double beam oscilloscope, a pair of binoculars and a metrotest		
277	A Royal Albert Old Country Roses wall clock £10.00 - £20.00		continuity tester, all in working order £20.00 - £30.00		
278	A mixed lot of glassware including coloured £10.00 - £20.00	306	A Powercraft PBF1200 plunge router with cutting bits in an aluminium case £20.00 - £30.00		
279	A mixed lot of paintings £10.00 - £20.00	307	A Lotus Elan official workshop manual, a Lotus Elite parts manual, a Triumph Herald / Spitfire / Vitesse official workshop manual, a Spitfire / GT6		
280	A large oil on board country scene £100.00 -				
	£200.00 4 pieces of glass and pottery including		Herald restoration manual and a Haynes Dolomite Sprint workshop manual £20.00 - £30.00		
281					
202	Beswick, Vietnamese etc £10.00 - £20.00	308	A pair of Asiatic plush pictures £10.00 - £20.00		
282	A mixed lot of mice and mushroom ornaments etc	309	2 lidded tureens and a china fruit ornment £8.00 -		

6

0	١.	n		\sim	^
•	ш	U	ш	U	O

- 310 A mixed lot of dinner ware including blue and white £10.00 £20.00
- 311 A Musicman style 4 string bass guitar, active electronics £20.00 £30.00
- 312 A mixed lot of glass candlesticks etc £10.00 £20.00
- A good lot of miscellaneous items including brass reading lamp, tea caddy, figures, ephemera etc £20.00 £30.00
- 314 A framed tapestry £10.00 £20.00
- 315 A modern glass topped desk with side drawers £20.00 £30.00
- 316 A flat screen television on stand £20.00 £30.00
- 317 An oil on canvas in frame £10.00 £20.00
- 318 A glass stand £10.00 £20.00
- A mixed lot including horses, small stoneware bottles, napkin rings etc £10.00 £20.00
- 320 An oak office desk and an office chair £20.00 £30.00
- 321 A leather saddle £20.00 £30.00
- 322 A brass fender £10.00 £20.00
- 323 A mixed lot of glassware £10.00 £20.00
- 324 A circular white melamine table £10.00 £20.00
- 325 A good lot of assorted tools £20.00 £30.00
- 326 A modern office chair £15.00 £20.00
- 327 A modern CD rack £20.00 £30.00
- 328 An office chair £10.00 £20.00
- 329 A pair of swivel reclining chairs with matching foot stools £20.00 £40.00
- 330 A 2 seat leather sofa £20.00 £40.00
- 331 A 2 seat leather sofa £20.00 £40.00
- 332 A 2 seat leather reclining sofa £20.00 £40.00
- 2 boxes of motoring books including racing, biographies etc £10.00 £20.00
- A mahogany extending dining table and 4 chairs £30.00 £40.00
- A Peavey electric guitar and amp £20.00 £30.00
- 336 A pine bureau £30.00 £40.00
- 337 An oak bedstead £20.00 £30.00
- 338 A tin trunk £10.00 £20.00
- 339 A 1940's wardrobe £20.00 £30.00
- 340 A 2 drawer chest and a CD cabinet £20.00 £30.00
- 341 A vintage Nelson garden sprinkler £20.00 £30.00
- 342 A 2 over 3 chest of drawers £30.00 £40.00
- 343 A modern display cabinet £20.00 £40.00